Al = 0l & AFE B Al A

20238 =& 2 3| LBe|H SNSRI

SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
SASXI 1,575,283 1,307,683 267,600
== 135,000 135,000 0
Al 1,336,383 1,072,683 263,700
CH 100,000 100,000 0
= 3,900 0 3,900
JIGLERRR (A - SAILLHUEKXI/AMHRE - DEF}) 510,205 471,305 38,900
== 60,000 60,000 0
Al 346,305 311,305 35,000
CH 100,000 100,000 0
= 3,900 0 3,900
JIHLETSX 501,028 462,128 38,900
== 60,000 60,000 0
Al 337,128 302,128 35,000
cH 100,000 100,000 0
= 3,900 0 3,900
JIg=x 98, 128 63,128 35,000
401 AEHIZL O] 35,000 0 35,000
01 Al&H| 35,000 0 35,000
OFIY Y2 B
35,000,000 %A 35,000 0 35,000
(D)EXILAXNEEXZ 3,900 0 3,900
= 3,900 0 3,900
402 2IZ2ERHE0I1A 3,900 0 3,900
= 3,900 0 3,900
02 CIZEXI= AL B (0| M THS) 3,900 0 3,900
OFAg eldElE X
3,900,000 14l 3,900 0 3,900
= 3,900 0 3,900
AMHUT SN LSS (2 EL XS INL/ AFHTHAI) 804,052 575,352 228,700
< 75,000 75,000 0
Al 729,052 500,352 228,700
ArF TR 242 804,052 575,352 228,700
== 75,000 75,000 0
Al 729,052 500,352 228,700
AASHTIAILEYI 554,052 325,352 228,700
201 LE23H| 23,052 20,352 2,700
02 Z323H| 23,052 20,352 2,700
O&AEX JI2S &IIRa
A 14,652,0002 14,652 13,152 1,500
OZFLEAMAEX H=Xeld &8IIes
Z& 8,400,000 8,400 7,200 1,200
401 AEHIZL O] 531,000 305,000 226,000
01 Al&H| 531,000 305,000 226,000
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